F ¥l

=27 VAV 3

[WhE-BIISHEETAR=

2024.3.158 %

_U ‘j‘_ |‘®J R

WOLBENR [ERTA A==V /= e % THAWLEEELT, HYHESITSVETS,
BLWbZE - -HiI=» [ERT4X=—VYV—}9] B (ERTAA=—YUY—1®] 20 - LWbhZE
ETAM B S Rk SETAM 3 R &S
S 25 4= 65 S# 101= 103= 105=
(=8P /(T 58 58 &8 (S8R /AT B 58 58 vds
L H & R 5:00 5:40 BRTA4RX=Z—>—0 | 18:15 | 21:35 | 21:45
Wb T T M 5:14 5:54 HRTAX=Z—F>F® | 1825 | 21:45 | 21:55
WhEHhRAYE— 5:15 5:55 KEIRAT— b, v &2 — I I 23:40
WhEEERA X — 5:24 6:04 # H H W | 20:24 I 23:58
WhEZkA X — 5:37 6:17 Z2E MR 7 7Y | 2037 I 0:11
x| A v x = 5:45 6:25 B i ™ & Fr 81 | 20:47 I 0:24
H iz @ & Fr &l I 5:50 6:50 x4 >~ % — | 21:10 0:10
Z2E TR 7 7Y I 6:01 7:03 WhEZkA4 22— | 2121 0:21
# H H N I 6:15 7:17 WhEEARA Y X— | 21:34 | 0:34
KFIERT—bA 2 — I 6:36 I Wb FOWF R | 21:44 | 0:44
BRT A A== —0 8:14 8:45 9:37 Wh&EdR(>x— | 21:45 0:45
HERT A4 RXZ—5 ke 8:24 8:55 9:47 Ly H 3 BR | 21:58 | 0:58

B HEER - #EFEHEF

BRTA XZ—F Y F® - HBRT4 A== —0
SN CEPN YN
t: b’b N g&% E’% 3,700 3,700 1,850
b E A o (6,400/3) (5,70073) (3,200/)
3,550 3,550 1,780
WhEBARA Y £ -
hEBELY (6,100M) (5,500F9) (3,050M9)
WhZka v R — 3,350 3,350 1,680M
It ZZim A4 > 2 — (5,700M) (5,200M) (2,850M)
H X & & i ® 3,050 3,050 1,530M
L2 BEWmMERE 7Y ’ ’ '
2 m th A (5,300M9) (4,700M) (2,650/)
_ 2850/ 2 850/ 1,430
27— A H—
AR b= (4.900F9) (4.500/) (2.450/)

O 810 (&< TA) RE&> 7] IC

2T

BWMHARA. 20205 (£F2%) 3ALUBEOHIE, %%i(Aﬁﬁﬁ3ﬁ$EiTﬁ%tMtLi?o
A, FRFETEINSE (1810 (< TA) X2V 7] |

O FEEBE ml_/\?’\%%’]t VR —
O ZIWRBIIE S ZERT

BYBHAEIERTT,

(ZF#)

@479—%7#%%%

O FHEER®E - TWEBE HFEO
(BHEE) OFBLEIGE LD & HREERT

#50246-46-0200

() MW [HERES ES

O [N, PFE - SRERTFMRE-
BRE-BE 1 ~3FEOHERICRDE
9. CREOMRG REFETIRRIIE,

O [HEREH (L. CHAZHACEIIBA
I3EEFTEEBA BWIRIBHETICHELK
HIEEW,

o [1H1ERESF (3. BEVKOHOIRI,IF
FEN3EHELOTIRETR ., TI8E
BEENMSSAMUAICERZFIAIHEICO
HIRFTLET,

@0246-46-0222 (5%148:30~18:00)
@0294-21-5245 (521410:00~-18:00)
[FEEF~F 4%y b] TRER



